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Time: 40 Minutes Paper G. Science 6th Total Marks: 25

2nd Month, 1st Week, 6th Day |Syllabus: Revision test syllabus (1st week) |

Q.No.1 Encircle the correct answer from the following choices. (1x10=10)
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1. The change of a solid into liquid form is called:

e b b SN NP

(a)|Freezing g Ve / (b)|Melting e
(¢)|Boiling u@/'}f (d){Sublimation u’:l"y
2. How many states of matter are there? ?U,?r"”“"f( d/ul.
(@)|Two »|(b)|Three & |(©|Four Jb|(@|Five &L
3. Attractive forces are greater in : Iujam;.lzjuf_ f/)&f’y
@)|Liquids = WL|b)|Gases -7 |(©[Solids  ¥F|@)|Plasma Itk

4. In which state of matter, particles only vibrate but not move?
0L S TSEL S i e s o ook
(@)|Solid SAlm)Liquid  Zi©)|Gas Y | @|Plasma i

5. In which state of matter attractive forces are strongest?

St By b3S P e o fosk

@|Liquids = L|b)|Gases -7 |(c)[Solids  #F|(d)[poth a&busca
6. The space is negligible in: -c"_b‘ﬂf.l/.Z:—Lﬂ,&U;u:

(a)|Water di|m|Atcohol S
(¢)[Soft drink —£23230-|(d)|Book g

7. The forces of attraction between gas molecules are .

- (3}1 //}Ju%y/;é)zg l,cf-u'{

(a)[Week 23 / (b)|Strong by

(c)|Negligible Al S wz|(d) very strong by ey

1

8. The physical state of mercury at normal temperature and pressure is:

e NG Ayl
@ |Liquid Zlw)|solid J#|(0)|Gas o l@None A0S

9. Which of the following diffuse easily?
S G T bl e Ut 5es

(@|Liquid Zilm)|solid U
(¢)|Gas J’f (d)|Both a&c Us c&a
10. The Brownian motion was first observed by the scientist

BYL gLt 2 Smal b i
(a)|[Robert hooke ...j,/ < £l/|(b)|Robert Brown Il sl
(c)|Aristotle #-I|(d)|Edward Jenner Rk
Q.No.2. Write the short answers. 2x6=12) .‘j.‘."J .:«Lli/‘“;
(i) Define condensation. - /..y /76/ u::‘/uﬂ
(ii) What is the arrangment of particles of solid? ?LL(}}’Z g_,;}d/ﬁgéui
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(iii) Define Brownion motion.

(iv) Why do liquids and gases flow easily but solids cannot?
02 S A L S T T U

(v) What is meant by diffusion? Sl “lf(c; s

bl BTl L

Q.No.3. Why is the volume of liquids remains fixed? Also explain its particles

(vi) Why liquids cannot compressed easily?

arrangment. A3
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